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The splice site is found in:

a. 3’end of exon b. 5%nd of intron

¢. Within the exon d. Within the intron

What is the primary purpose of genetic knockout in biological sample?

a. To amplify gene sequence b. To delete entire genomes

c. To deactivate or study function of d. To enhance gene expression

specific genes

What is the primary method for achieving genetic knock out in animals like mice?

a. Protein over expression b. CRISPR-cas 9 gene edition
¢. RNSinterference d. Electroporation
From which amino acids, are amine hormones derived?
a. Phenylalanine b. Tryptophan
c. Alanine d. Tyrosine
Which hormones stimulate the production of secondary messengers?
a. Proteins b. Steroid
c¢. Bothaé&b d. None of the above
Which of this hypothalamic nucleus is involved in the regulation of circadian rhythm?
a. Supraoptic b. Paraventricular
¢. Suprachiasmatic d. Ventromedial
17-Hydroxylase catalyzes which of these reactions in steroidogenesis?
a. Pregnenolone to 17 a-hydroxy b. Progesterone to 17 OH-progesterone
pregnenolone
c¢. Botha&b d. None of the above
Which of these statements is not true for G-protein?
a. Active G-alpha is bound to GTP b. GTP displacement of GDP is facilitated
by GAP
c. Gideactivates adenylyl cyclase d. G-protein has three subunits
Lipophilic hormone binds to:
a. Cytoplasmic receptor b. Nuclear receptor
¢. Botha&b d. None of the above
20. The transfer of heat by the circulation of a fluid or gas is called:
a. Convection b. Conduction
¢. Swealing d. Evaporation
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